Ch. 3&4 Review
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1) Nitrogen trifluoride is a potent greenhouse gas that is used in the manufacture of
semiconductors. It can be produced from nitrogen and fluorine gas by electric
discharge.Which of the diagrams below bést represents the for;
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5Fe2+ + 8H* —> Mn2* + 5Fe3* + 4H;0

2) In the reaction represented above, the number of MnO4- ions that react must be
egual to which of the following?

ne-fifth the number of Fe?+ ions that are consumed

Eight times the number of H* jons that are consumed

C) Five times the number of Fe3* ions that are produced

D) One-half the number of HO molecules that are produced




Pb(NO3) + MgClz(aq) — PbClz(S) + Mg(NO3)2(aq)
3) A student combines excéss Pb(NO3)(aq) with a dilute solution of MgCla(g) to form
PbClys), as shown above. Which of the diagrams below best depicts the contents of the
container after the reaction has run to completion? ) (] -

A) B)

C)




4) A 23.0 g sample of a compound contains 12.0 g of C,3.0g of H,and 8.0g of O.
Which of the following is the empirical formula of the compound? |
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D) CiHi20;
AgNOsq) + NaCl(aq) —_ AgCl(S + NaNOsz(aq)
5) A student performed an analysis to determine the amount of AgNOs(q) in a
solution. Excess NaCl(.q) was added to the solution, and the Ag+(.q) precipitated as
AgCls). The precipitate was collected by gravity filtration and dried in an oven.
Three trials were performed, and in each case, according to the instructor, the mass
of precipitate recovered was 5 percent higher than the actual mass of AgCl,) that
should have formed. Which of the following could account for the error?
A) The pores in the filter paper were too large. & logr ot ¢
B) Not all of the precipitate was transferred to the filter paper. r—lose tn S g
The NaCl(aq) solution was too concentrated. &— ? ho Cé@’*’i €
he precipitate was not rinsed with deionized water before drying.
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